Limiting Reactant & Percent Yield Worksheet

Instructions:  First balance the chemical equation, then perform the requested calculations.

1.  Identify the limiting reactant when 1.22 g of O2 reacts with 1.05 g of H2 to 


produce water.

H2  +  O2  (  H2O

 2.  Identify the limiting reactant when 4.68 g of Fe reacts with 2.88 g of S to 


produce FeS.

Fe  +  S  (  FeS

 3.  Identify the limiting reactant when 5.87 g of Mg(OH)2 reacts with 12.84 g of 


HCl to form MgCl2 and water.

Mg(OH)2  +  HCl  (  MgCl2  +  H2O

 4.  Identify the limiting reactant when 6.25 g of AgNO3 reacts with 4.12 g of


NaCl to form NaNO3 and AgCl.

AgNO3  +  NaCl  (  NaNO3  +  AgCl
5.  Determine the percent yield for the reaction between 15.8 g of NH3 and


excess O2 to produce 21.8 g of NO.  The actual yield of NO is only 1.75 g.
NH3  +  O2  (  NO  +  H2O

6.  Determine the percent yield for the reaction of 11.6 g of O2 with excess


Rb when 39.7 g of RbO2 is produced.
Rb  +  O2  (  RbO2
7.  Determine the percent yield for the reaction between 46.5 g of ZnS and


excess oxygen if 18.4 g of ZnO is produced.

ZnS  +  O2  (  SO2  +  ZnO

8.  Determine the percent yield for the reaction between 16.8 g of H2 with


excess CO if 101.9 g of CH3OH is produced.
CO  +  H2  (  CH3OH
